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Geometry
Isosceles Triangles 

1. In 
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3. In the diagram of [image: image8.png]MABC



 below, [image: image9.png]


.  The measure of [image: image10.png]


 is 40°.

What is the measure of [image: image11.png]
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4. In [image: image12.png]


, [image: image13.png]


 and [image: image14.png]


.  Find [image: image15.png]mZSTR



.



5. In isosceles triangle ABC, [image: image16.png]


.  Which statement will always be true?

	1)
	[image: image17.png]




	2)
	[image: image18.png]msA4 > msB





	3)
	[image: image19.png]msA = msC





	4)
	[image: image20.png]ms < msB








6. In the diagram below of [image: image21.png]MABC



, [image: image22.png]


, [image: image23.png]


, and [image: image24.png]


.



[image: image25.png]



What is the value of x?

	1)
	10

	2)
	28

	3)
	32

	4)
	40


7. The ratio between a base angle and a vertex angle in an isosceles triangle is 3:4. What is the measure of a base angle of the triangle?

8. Each base angle of an isosceles triangle is 2x + 20 and the vertex angle is 3x. What is the measure of the vertex angle?

9. The vertex angle of an isosceles triangle is 15º more than each of the base angles. Find the measure of one of the base angles.
10. The vertex angle of an isosceles triangle is 9º less than each of the base angles. Find the measure of one of the base angles.
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